Stoichiometry and Energy
The combustion of methane releases 686 kJ of heat energy for every 1 mole of methane
CHa4(g) + 20,(g) = COy(g) + 2 H,O(g) + 686 kJ
So now we can do stoichiometry with heat energy just like with grams and moles!! Yee Haw!!

e.g. Determine how many kJ of heat energy will be released if 100. g of methane burn?

Problems:
1) Water decomposes into its elements according to the following equation:
2 H,O(l) + 488 kd > 2 Hj(g) + O(g)

How many kJ of electrical energy would be required to produced 50. g of hydrogen gas?

2) One mole of magnesium reacts with oxygen to form magnesium oxide and releases 6071
kJ of energy.

What mass of oxygen would produce 2000. kJ of energy?

3) Solid sodium hydroxide reacts with aqueous hydrochloric acid to produce approximately
90. kJ of heat energy.

What amount of sodium hydroxide will produce 35 kJ of heat energy?



